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Abstract

With different rules and direction, this study continued a former study. In this study,
we’ve proved that there are five solutions exist in the (n,m,n) regular partition of the
vertex group with one degree. Thirteen solutions exist in the (n,m,n) regular partition of
the vertex group with two different degrees (The maximum of nis 5). Three solutions
exist in the (n,m,n) regular partition of the vertex group with three different degrees
(The maximum of n is 4). And moreover there is none when the degree number is more

than 3. Lastly, we draw out all solutions by GSP.
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